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I. Tick the correct choice [1x5=9]
1. What is the meaning of the phrase ‘chicken-hearted’

(a) extremely hungry (b) of great mass

(c) easily frightened (d) deceitful

2. Bibliomania is the overliking of

(a) books (b) talking

(c) power (d) flowers

3. A unique name identifying a web site on the internet is called

(a) URL (b) Protocol

(c) WAN (d) WPN

4, Sports which use a horse like polo, horse racing etc. is called

(a) Aquatic Sports (b) Equestrian Sports

(c) Combat Sports (d) Winter Sports

5 |t is a dance of Hawaii, danced to the music of Hawaiian guitars.

(a) Tango dance (b) Square dance

(c) Belly dance (d) Hula dance

Il. Fill in the blanks - | [1x5=5]
1. . is amedicinal herb with special antibiotic and antiseptic
properties.

2, is the Tamil version to'wish or greet.

3. The thrilling sport of riding breaking waves towards the shore with the help of a
surfboard.

4. Meaning of ‘extempore’ is
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5. The sport of racing in sail or power-driven vessel.

IIl. Answer in one word - : [1x5=5]

1.Identify the name of the poet of following lines -
‘All the world's a stage
and all the men and women merely players'.

2.Congress is the parliament of

3. He was known as the ‘Father of Surgery' and ‘Father of Plastic
Surgery’.

4. They live in Central India as well as in some parts of Tripura.Ghoomar dance is one of
their well-known dances.

5 Author of the book ‘My experiments with truth’ is

IV. Current affairs - [1x5=5]
1.Recent G20 summit was held in which country recently?

2. Which country won the Euro Cup 20127

3. Who won the fourth medal for india in the current London Olympics?

4. Which Indian Stock Exchange become the world’s largest bourse in terms of the number
of trades in equity segment for the first six months of 20127

5. Who was the Indian flag bearer in London Olympics 20127
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